PARTS LIST/ LISTE DES PIECES/ LISTA DE PIEZAS
drew &

PRODUCT NUMBER(S): P392DJ240
P392DJ241

S ™
jonathan Description: Double Pedestal Table Base/ Base de Table de Guéridon/ Base de mesa de velador

Double Pedestal Table Top/ Dessus de table Guéridon/ Tablero de mesa de velador

x1 Side Table x1 Middle Table x2 Mount Plate
x1 Table D'appoint x1 Table du milieu x2 Plaque de montage
x1 Mesa Auxiliar x1 Mesa Media x2 Placa de montaje

o\ =N

x2 Table Base x12 Allen bolt @5/16xL22mm * x12 Allen bolt ©@5/16xL38mm ®
X2 Base de table x12 Vis a téte creuse hexagonale @5/16"xL22mm  x12 Vis a téte creuse hexagonale @5/16"xL38mm
X2 Base de mesa x12 Perno Allen @5/16"x22mm x12 Perno Allen @5/16"x38mm

S E‘

G * H 0

*

x24 Lock washer J5/16" x24 Flat Washer @5/16" x1 Allen Key 5mm *
x24 Rondelle de blocage @5/16" x24 Rondelle plate 85/16" x1 Clé hexagonale 5Smm
x24 Arandela de Seguridad ©@5/16" x24 Arandela plana ©5/16" x1 Llave Allen 5mm
x
Replaceable part
Page 1 of 3 Assembly Instructions-Instructions d’'assemblage-Instrucciones para el ensamblaje

Made in VietNam / Fabrique en VietNam / Hecho en VietNam.




drew & ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
PRODUCT NUMBER(S): P392DJ240

jonathan
j Description: Double Pedestal Table Base/ Base de Table de Guéridon/ Base de mesa de velador

Double Pedestal Table Top/ Dessus de table Guéridon/ Tablero de mesa de velador

STEP 1 STEP 2
ETAPE 1 ETAPE 2
PASO 1 PASO 2

STEP 4
STEP 3 T ETAPE4 |
ETAPE 3 % E PASO 4 :
PASO 3 - I
|
|

*\ CLOSE LS /

Adjustable leveler (4 pcs) A}

Patin réglable (x 4)
Nivelador ajustable (4 pza)

*
Replaceable part

Page 2 of 3 Assembly Instructions-Instructions d’assemblage-Instrucciones para el ensamblaje
J Made in VietNam / Fabrique en VietNam / Hecho en VietNam.




drew &

jonathan

REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

PRODUCT NUMBER(S): P392DJ240
P392DJ241

Description: Double Pedestal Table Base/ Base de Table de Guéridon/ Base de mesa de velador
Double Pedestal Table Top/ Dessus de table Guéridon/ Tablero de mesa de velador

x4 RP392DJ100-LEVE- Brown Leveler x1 RP392DJ240-HWKIT- Hardware kit list
- Niveleur - Liste des pieces de quincalillerie
- Nivelador - Lista del kit de materiales

x4 Sets RP392DJ241-LOCK- Table Lock x12 RP392DJ241-PLATE- Connecting plate
- Verrouillage de table - Plaque de connexion
- Bloqueo de mesa - Placa de conexion
x

Replaceable part

Page 3 of 3

Assembly Instructions-Instructions d’assemblage-Instrucciones para el ensamblaje
Made in VietNam / Fabrique en VietNam / Hecho en VietNam.




	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model




